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16.

PART C — (5 % 8 =40 marks)

Answer ALL questions, choosing either (a) or (b).

Answer should not exceed 600 words. *
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Derive the expression for the twisting couple
of a cylinder,

Or
fwien  pem  eped  WkiEmTELD &TERILD
Gangenanenius efleurf],
Explain the determination of Young's
modulus by Searles method.
Caemqelleum  apald  wWriGeTSD HITEmILD
Gemgenananius eflaurf].
Explain the determination of Young's
moduluq using cantilever. :
Or
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Derive the expression for the Young's
modulus of a beam by non — uniform
bending.
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Calculate the work done in spraying a
spherical drop of water 10 m radius into
million droplets all of the same size. The
surface tension is 72 x 10-* Nm-!,

Or

@@ fp geender el L b 0.001 15 @i ferid
0.4 18 ares. 0.2 15 e wpgdled Qmpe Siseyer i
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Calculate the mass of water flowing in
10 minutes through a tube 0.001 m of
diameter and 0.4 m long if there is a
constant pressure head of 0.2 m of water.
The value of n of water is 0.00082 NSm-2,
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Explain the determination of a.c. frequency
using sonometer.

Or
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